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Answer ALL questions

List five different storage media or devices.

(Total 5 marks)

Leave )
blank

A search engine may be used to find information from the Internet.

(a) Describe how a search engine is used to find information about holidays in Mexico.

(b) Sometimes a search engine displays information that children should not see.
Describe one way to prevent this information being displayed.

(c) Apart from inappropriate material, state three other problems or hazards which might
occur when finding information from the Internet.

Problem / NAZATA 1 ..o e e e e e e e e e eeeeaeeaeas
Problem / NAZATA 2 ...t e e e e e e e e

Problem 7 hazard 3 ... —————

(Total 7 marks)
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LeaveW
blank
3. A company sells wood and uses the following spreadsheet to calculate prices.
A B C D E F
1 Wood type. Cost per Diameter Length Volume in Price
Enter first letter | cubic metre | in metres in metres cubic metres
2 |E £160 1.2 5.6 6.33 £1,013.35
3
4 | Beech Chestnut Elm Oak Sycamore Willow
51B C E O S W
6 | £120 £145 £160 £130 £80 £95
Each cell is named by a column letter and a row number. For example, the word ‘Price’
is in the cell named F1.
Each cell in the spreadsheet is formatted as text, number or currency and may also contain
a formula or a function.
(a) Name a cell that contains a formula.
ey
(b) Name a cell that contains a function. e
ey
(c) State the format of the following cells:
(1) cell B6, s
(1) cell C2, e
() cell E1. s
3
The area shown with a thick outline is a horizontal look-up (HLOOKUP) table. The
HLOOKUP is done using cells A2 and B2.
(d) When the price of Elm in cell C6 is changed to £165, two other cells will have their
contents changed automatically. Name the cells that will change.
(2)
(e) The letters in row 5 of the spreadsheet must be in alphabetical order. State what
would happen if they were not in alphabetical order.
1 Q3
(Total 8 marks) T
J
3
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4. The diagram shows two Local Area Networks (LANs) in an office. Network A is
connected by cable; Network B is connected by radio.

(2)

(b)

(©)

g a |- i | Il! ' u!
o o i 5] - |
i Workstation
Router i
| ©
i Wireless access point
—_—— i —y,
S i =
L Server i [
| | ; == '
Network A Network B
cable radio

Apart from the method of connection, state three differences between a radio network
and a cable network.

DIITEIEIICE 1 e e e e e e e e e e e e e e e e e e e e e e e e e e e e eeaeeeeeeeaaaaaeaaaaaaaananns
DIITETEIICE 2 ... e e e e e e e e e e e e e e e e eeeeeaeeeeeeeaeeeseeeaeresaeeneneeanans

DIITEIEICE 3 oo e e e e e e e e e e e e e e e e e e e e e e e e earaaaaaeeas

State the purpose of
(1) thE SETVET, .eeueiriiiiieiieie ettt ettt et ettt et et e bt et esbe et e eneesaeenteas
(11) The TOULRL, ..eiiiieiieeiieiie ettt ettt ettt e e et e st e et esabe e bt e enseeseesaseenne

(111) the WIreleSs aCCESS POINL. ....eevcuiieriuieeririeeeiieeeieeesteeeseeeeteeesteeesseeessseeessseeensseennns

The two networks can be connected by a cable to form a single LAN. The cable joins
two pieces of equipment. On the diagram, draw a line to show which two pieces of
equipment should be joined.

2

(Total 8 marks)

Leave )
blank
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5. Sarah is making a database for her school library. The database will be used by the
librarians to control the lending of books.
(a) Sarah must design a test plan for the database. She decides to use the three different
types of test data listed below. Briefly explain each type of test data for this
application.
TYPICAL ALA ..eeeeeiieeieee et et e e e e e e a e e aree e nreeens
INVAIA dALA ..eoneieiiee et
EXIreme data ....oo.eoviiiiiiiiiieieee ettt
3)
(b) Sarah writes a user guide for the librarians. State three items which should be in the
guide.
TEEIM 1 ettt ettt ettt ettt
TEEIMN 2 ettt ettt et ettt et e e ab e st e s e eas
TEOIN 3 et ettt ettt ettt
3)
(c) Sarah also writes a guide for the database administrator. This contains technical
information about the database such as table structures, macros and queries. Explain
why this guide is required.
2 Qs
(Total 8 marks) T
J
5
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6. A farmer uses a milking machine to milk a cow. The machine measures the amount of
milk given by the cow.

(a)

(b)

(c)

(d)

Photocells which E Light source, shining
detect the light parallel beams of light
beams . through the container
Milk | |
\

The diagram shows the milk held in a glass container with light beams shining
through it at different heights. Explain how the beams can be used to measure the
height of milk in the container.

The machine contains a microprocessor. The microprocessor uses a look-up table,
and the amount of milk given by the cow, to decide how much food to give to the cow.
State the two data items that would be in the look-up table.

Data TN 1 ..ot ettt
Data IEIM 2 ..ottt et ettt e b et etee
The machine is used to milk several cows. The machine records the amount of milk

given by each cow. The farmer can look at the data later. State a suitable type of
software package for recording the data. Give two reasons for your answer.

SOTEWATE LYPC .veeniieiiiieiie ettt ettt ettt ettt e bt ae e et e e sabeenbeessseeseesaaeenne
REASON 1 oo et e e et ee e e et e e e e taae e e e e e e eeanas
REASON 2 e e e et ettt e e e e e et a e s e e e e et it ——————as

Each cow wears a collar which contains a radio transmitter. State two ways in which
the radio signal would be useful in this application.

(Total 9 marks)

Leave )
blank
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7. A student is asked to write a computer program that will accept a series of positive
numbers and print the total of those numbers. The student makes the algorithm shown
below. The boxes have been numbered.
( Start ) 1
Total = 0 2
7
—| Total = Number + Total | 5
(a) State what happens at
(1) box 3,
1)
(i1) box 6.
1)
(b) State the purpose of
(1) box 4,
1)
(i1) box 5.
1)
(¢) Explain what would happen if box 2 were placed between box 3 and box 4.
a3 Q7
(Total 5 marks) T
J

7



8. The following table shows some of the fields in a database about hotels. Complete the
table, using a different validation method for each field.

Validation method
Use a different Validation description
method for each field

Example

Field name data

Hotel name | The Regency

Star rating ook
Number of 136
rooms

Date of next

. . 25/05/2007
price review

(Total 8 marks)

Leave )
blank

9. A businessman has a computer which is connected to the Internet. He is concerned that
other people may be able to use the connection to look at his files.

State three measures that the businessman could take to prevent people reading his files
over the Internet connection. Briefly describe how each measure works.

IMLEASUTE 1 oo et e e e et e e e et e e e et e e e e e e e e eaaeeeeneaeeeenanas

(Total 6 marks)
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10. A marketing company carries out a survey in a town centre. Shoppers are shown some
statements and asked to enter a response on a laptop computer. Each statement is on a
different screen and has five possible responses.
(a) One of the statements is: “The town centre is kept clean and tidy”.
The responses are: 1 Strongly agree
2 Agree
3 Not sure
4  Disagree
5  Strongly disagree
Using this example, design a suitable input screen.
)
Shoppers who complete the survey are asked to give their telephone number and are
entered into a prize draw.
(b) The telephone number must be entered twice. State the name of this process and give
a reason why it is done.
PrOCESS MAME ..coveiiiiiiiiiiiiie ettt
REASON .ottt
(2) Q10
(Total 7 marks) T
J
9
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11. Benjamin uses a flat-bed scanner to transfer a picture to an art package. The scanner can
be set to use 8-bit, 16-bit or 32-bit colour.

(@)

Explain the difference between 8-bit and 16-bit colour.

(b) The art package can process the picture in 8-bit, 16-bit or 32-bit colour. Benjamin

(©)

wants to use the picture for a web site. Give two reasons why he prefers to use the
8-bit setting.

REASON 1 oottt s
REASON 2 .ot

2
Benjamin scans the picture at a resolution of 600 dots per inch. He finds that the

resulting file has a size of 32 Megabytes. Briefly describe two methods by which
Benjamin can reduce the file size.

IMEETNOA 1 oo e e e e e e e e e e e e e e e e e e e e e e e e e e e aaaeaeeas

(Total 8 marks)

Leave )
blank
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12. A cycling club has its own web site, with a youth section for its younger members. The
web site is part of a web ring.

(a) (i) Describe what is meant by a web ring.

2)
(i1) State two reasons for the cycling club to belong to a web ring.
REASON 1 ettt sttt e
REASOMN 2 ettt
(2)
(b) The youth section of the web site contains a moderated chat room.
(1) State what is meant by the term moderated in this context.
............................................................................................................................ (1)
(i) Explain why the web master requires the chat room to be moderated.
............................................................................................................................ (2 )

(Total 7 marks)

Leave )
blank
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13. An engineer is asked to design a new footbridge. He decides to use a software package to
model different bridge designs.

(a) Explain what is meant by to model in this context.

2

(b) Give two reasons why the engineer would use computer modelling in designing a
bridge.

REASON 1 oo

REASON 2 .ottt e sttt e e et e st e e eas

2

(c) Give two reasons why the specifications of the completed bridge might not match
those obtained from the computer model.

REASON 1 .ottt
REASON 2 oot e e et e e e e e e e e sata e e e e e ata e e e e enraaeeennnnes
(2)

(d) Describe another context where a computer model could be used.
2)

(Total 8 marks)

Leave )
blank

14. The central processing unit (CPU) has four key roles. One of these is to store data. An
example is when a number is stored in the CPU to use in a calculation.

State the other three key roles of the CPU. Give an example in each case.

(Total 6 marks)
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